CHM151 Quiz #2A 25Pts Spring 2008 Name: Mfe‘?_
Molar masses: H 1.00,5, C 12.01, N 14.01, O 16.00, A1 26.98 P 30.97, K 39.10, Min 54.94 CAL= 35 ¢ ¢
Show All Work to Receive Credit.

1. (3 Pts) Determine the number of moles of aluminum in 46.7 g of Al
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2. (4 Pts) What is the molar mass of acetaminophen, CgHgNO,?
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3. (6 Pts) Complete the following table: (the atomic numbers of C and I are 6 and 53)
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isotope number of protons | number of electrons | number of neutrons
C-13 C g 7
lodine-127 53 53 7Y

4. (10 Pts) How many grams of Cl, can be prepared from the reaction of 28.0 g of MnO, and 35.0 g of
HCI according to the following chemical equation? (atomic masses found on top of page)

MnO,+  4HCl— MnChL+ Ch+ 2H0
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5. (2 Pts) Describe what would happen in a chemical reaction between a metal and a non-metal on the
electron level.
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Molar masses: H 1.001, C 12.01, N 14.01, O 16.00, Al 26.98 P 30.97, K 39.10, Mn 54.94 (0-35.4¢
Show All Work to Receive Credit.

CHM151 Quiz #2B 25 Pts Spring 2008 Name:

1. (3 Pts) Calculate the number of moles of phosphorus in 12.0 g of phosphorus.
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2. (6 Pts) Complete the following table: (the atomic numbers of C and I are 6 and 53)

1sotope number of protons | number of electrons | number of neutrons
Iodine-126 f 3 5 K1 73
C-14 g g g

3. (4 Pts) Calculate the formula mass of potassium permanganate KMnO4.
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4. (10 Pts) How many grams of Cl, can be prepared from the reaction of 18.0 g of MnO, and 40.0 g of
HCIl according to the following chemical equation? (atomic masses found on top of page)

MnO, + 4HCl—- MnCL+ Ch+ 2HO Mn Gy ¢ %“?‘* / T
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5. (2 Pts) Describe what would happen in a chemical reaction between a metal and a non-metal on the
electron level.
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